AP Calculus
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Parametric and Vectors
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1. Find the equation of the 'rangen'r line to x=4sint, y 2cost:
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2. Find all POINTS at which the tangent line to the curve is KTHor'izon’ral and B.) Vertical

given x=2—1, y=1—41,
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, and determine intervals of concavity for x=1"+¢, y=1"—1.
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4. Find the length of the curve WITHOUT a calculator and then use a calculator to check
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5. A parmetric curve is defined by x = s ®St I3 6. The parametric curve defined by

and y=cscs for 0</<” . This curve is x=Int, y=1 for 1>0 is identical to
2 the graph of the function
A.) Inereasifig and concave up. X t
E)l Inereasing-and concave down. A) y=Inx for all real x.
|C)!  Decreasing and concave up B) y=In" for x>0.
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7. Find the exact length of the curve WITHOUT a calcula'ror' and then use a calculator

to check for Ay ——(x +2)2 ; on the interval [0,3] B.) y= xz on the interval [0,4]
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8. Find the area enclosed by the curve x=1"-2r, y= \/_ and the y=axis:
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8-12: Suppose a particle’'s x- and y-components’ velocities are defined as %=e' ~¢ and

% =¢'+1. Answer the following.
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10.  Find the pm*?cles coordinate position when t=3.
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11.  Find the speed of the par"l'lcle when I= 2
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12.  Find the acceleration vector of the particle at any time #.
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13. Is 'rhe parﬂcle speeding up or slowing down when #= 152 58 B
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15, Find the displacement of the particle on the interval [0,3]
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